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F=mg=2.7x10" kg x10 N/kg =2.7 x10* N
TRBUN 1 m® (TE AR R R
S=1nm’

TR IR XoF 7K b T 19 3

_F 2.7x10'N
P="g = 1 m

(D) WDG A R AR 7K ST b 80 T e g R
INETEITHIRN

F=Gy=(my+m;)g

=2.7 x10* Pa

= (400 kg +200 kg) x 10 N/kg =6 000 N

W A6 7K - THT F) JES 58 -

6000@:1.2“05 Pa
0.05 m

(2)WSGZE 5 min 708 1 BEFR ©
s=vt=5m/s x5x60 s=1500 m
WG4 o MR BE 7 Al iy 3

W=Fs=f=200 Nx1500m =3 x10"]
(3) 758E M N TERA(CERGITTR))

p=F/S=6/S=

- (1) f R TR A

F 6000 N
P=S T0.2
(2) AR
W=Gh=6000 Nx600 m=3.6x10°J
SEPPIRi  IANGWE

W _3.6x10°N
t~ 600s

=3 %10’ Pa

P= =6 000 W

A(DF, = Vy =1.0 x10° kg/m’ x 10 N/kg x4 x
# =Pk Vi g

107 m* =0.4 N

(2)Gy =Gy + Gy =0. 1 kg x 10 N/kg +0. 06 kg x
10 N/kg=1.6 N

IR Fie =G, =1.6 N

(3) FRERIE MR 25 0 0 S R T HEFF K A FR
TR T % 7.

.(1)p=F/S=6/S=4000 N/4 m” =1 000 Pa

(2) W,y = F b =Gh =4 000 N x3 m=12000 ]
Wy =Fys=F, -2h=2500 Nx2x3m
=15 000 J

Wi one, 12000 J
1=y, ¥100% =15000 ]

Aok

(3)P=W,/t=15000 J/10 s =1 500 W

x100% =80%

- PR G SE SRR RO B A s O,

Qu = Qy 13 em, At =gm,
JIF LA SE AR bE— AR JCHERERE 1 m® 11923 ST o 13
EEH At = gm,/cm, = qm,/cpV

_1.2x107 J/kg x0.065 x 10 ~* kg
1x10° J/(kg - C) x1.3 kg/m® x1 m’

=0.6 C

9. (1) KX T EAIERR :p = pgh =1.0 x 10° kg/m’ x 10

N/kgx0.1 m=1.0x10’ Pa

HREIEFEN (ABRR) - 9



(2) BN KA K B i di em = pV =1.0 x 10° kg/m’ x
1.2x107°m’ =1.2 kg

B K W . Q = em (1t — 1) =4.2 x 107 J/
(kg - C) x 1.2 kg x (100 C - 20 C) =
4.032x10° J

(3) BETT— K B[] «

w_0_ 4.032%x10° ] o
L= T T I W S00 W =269 s( B 268.8 s)
10. (1)L =vt =4 m/s x60 s =240 m

1

13.

—

V=SL=100 m* x240 m=2.4 x10* m’
m=pV=1.3 kg/m’ x2.4 x10* m’

=3.12 x10" kg

(2)W=Pr =135 kW x1 h=135kW - h
m=0/q=W/q
=(135x3.6x10° J)/ (3 x 10" J/kg)
=(4.86x10° J)/ (3 x10” J/kg) =16.2 kg
(3) RWBLAY % Ha, By 28 5 U DG ( RGEBRR , & Fi )
HK)
()R, =U/T=3V/0.3A=10 Q

(2) 4R P ETHEN,R=10 O

U, =IR=0.3A%x10Q=3V

Uy =Up+U, =3V+3V=6V

(3) MR P & THRA I R =20 Q

Ry, =R+R, =20 Q+10 Q=30 Q

U 6V
=z _309_0.2A

Py =PR =(0.2A)*x10 0=0.4 W

(BT S, M5,S, WiITF, 4 i P IEE] o I,

SITRREAT, SR AS R FUE (R R, BBIK, Ry

=U/I=8 V/0.2 A=40 Q

R=R, -R =40 Q-10 Q=30 Q

(Q)EFFKS, S, HHE S P IS b i, 5347
B BB R, (R, IR, HL AR T

I, =U/R, =8 V/10 0 =0.8 A

I,=U/R, =8 V/40 0 =0.2 A

HRF R =1 +1, =0.8 A+0.2 A=1 A

(DR=U,/T=3.8V/0.4 A=9.5 O

(2) Py = (U=U)I=(6 V=-3.8V) x0.4 A

=0.88 W

(3) PP i (Bl PRAP AT VLA BRI A5

R=(U-U)/I=(6V-3.8V) /0.4 A

14

4.2x10° J/ (kg

15.

i

=550

A(DHEAEW =P

=100 x (5.8 W+8.2 W) x3 600 s =5.04 x 10° J

(2) K it im_ﬁf

5.04 x10° J
<) x (60 °C =20 °C)

(3)100 min JHFERY EFfE
W =Pr=1000 W x60x100 s=6x10°]
IR AR IR

=30 kg

5.4 x10°J

W,
m =g x100% =505 x100% =849
A A 1) FL B

(Ug)® (220 V)?
R= P, =0 W S84
MR SRR

(Ug)® (200 V)
Py= =g aqg 56V

(D) HI py =p . &

g P 1 x10° Pa
e = g 1x10° keg/m’ x 10 N/kg

=10 m

(2)1 /NI LB B 57 R 305 W, = GH = e
Vgl =1 x10° keg/m’ x180 m* x10 N/kg x12 m
=2.16x10" ]

% W _2.16x107)
AR Py =77 =75 g s~ =0 000 W
(3)1.25 L 583l o8 Mk ber i .

Q=qm=qpuyV=4.0x10" J/kg x0.8 x 10°kg/m’ x
1.25x107 m’ =4 x10" ]
HEAHUIHRE B ROR

W, 2.16 x107 ]
n=0 x 100% _70” x100% =54%
T2 L I &
il

1.3.50 3.2 2.-2~102°C 3.38.5 0.1
4.82.6 5.2.5 0.5 6.36

7. )& 2.2 8.2.2

A

.10 -



9. (1) eI T RAF-FAF I, AR 4 %

(2)18.2 2.6x10°

10. (1) A FHY BTt m
QOMN— R =B b
O3] =R BT F A B )
()R BER B3R (3)mgh/i

UL 5B PRI 07 0 55 T, BT REOK i 2
T3k s AEAR TR K, R VG IR LR AR AR T 8 3
7K AT 23 LU I s J5T £, Jo 22k A m R A5 PG K i
it

12. (1) R = U/T( SRR E )
F4 (3)0.2 10 &
RER X

1B.(H)z )W T B (3)F#
FE{EHLRH, HFHAE 29°43. 33 Q

14. (1) Bl
(2) V875 5 Bl A8 BHLAS (Sl 2 ST 2 B HEIR)
(3) VAT B ARBE A8 , 81 /N KT 6 79 i 1) L 1 (P s
FEMREON2.5V (4)0.8 (5)200 1A

EH3 R R &

(2) e 4ty B F
(4 AT LB BN 5

B FL B

TR AT

1.B 2.C 3.C 4.B

S. A IYMAEAESR S TR T _E A — 2408 SO

—SeiR NIk

6. ()=sh  (2) KR/ THIIRE B BB
(RS EE AL UK /N K ER

TOREANKER WENXHMARKERSAHE &
ITEST 22Bel T %R G ATHIAT 22 AW T

8. S — U IR UK, AL , BRI Tl A
PIRBIEAR S8 — - i i T 328 W1 3 /K B 5
B BPUS TR AR T, I OB Y S P

9.(1)D
(2) 3% A KR BCIERAERT 2 S, 23 B A PRI
PR S AW T, AT E R AR, 1R
ARSI K. (AT RIS C 5 D)

10. (DIEHK K (2)B A (3) 45— MRIEFEH AL
RIEA RV W B, 23 531 T R /INAH (] £ 1 7 P AR 3t
B, MR AR Y R

1L (1) s sl i e
(2) BAN Ty 0 7= A A A 5 R A8 A G, AE B 15 R 2y
T EE AR [ I, AR A A [t A 7T R = 48
50 T B R B T e Y e T = ] Y R AN ]
S IHE . 380 AHRIE 240 I A B2 oR 5 s 5
W73, AR I A - AT R AR
P17 (00 AN A
(3) MSE i ¥ e LB 1 B R R, B4
BUBRALCR , T LA 36 P 1) ) 0 4 21 25 0 e 4 5 XoF
FAAE WAL, 7T A3 o 1 R4 1) 4 A
B Iy AR B B (i e sl N i 2 )
R4

12. (1) 5P R/ANGE (2) #EA A E
WA A e, A RN 58, T R/
255 B LSRR A G,

13. (1) Emg - (2)91k  (3)4 0.8
(5) = IR AER

14. (1) BRUAE SN 0 £ BE R ZAR ).
G #ERK Bl (4)0.5 1

15. (1) WARA IR M RE 5 SRR R E
AR BAR P B A VKA , B AR 7 5285
BER(2)EHETE T

16.(1)C (2)R=R, +R, (3)0.4 1.6 (4)[m
(5) REg% v it (4 1 ) (S0 g 2k VB FE G 3 vh 2
J1¥%5))

17. () KT (QWIF & 3)k B (HHE

C IS T W

(4)0.8

(2)Jk K

F1-~3FE3WNE

LR F@ 2050 e 3. Hes ARl

4. HE PrEF Ry s AR Jr

6. 45/ HE 7.2k PrHf 8. HITT  MLE

9.A 10.B 11.B 12.C 13.BC 14.AD

15 XAE A —E MR B P 5e R 22 3)
SR — R, T T A A R

16. & BL. oA EE R BB ALY, TE A
UTAR B, B A8 I AR, IR AR R, %)
TR 2 BAE A58 , (73 b ) A £ 5 7 R 190 J5E

BTG (ABRR) - 11 -



JE 75 AT o™ 7 A o R ) s R IR A £ ¢ i

R B A L
s 14 300 km
17.v= T 13 =1 100 km/h

18. (1) {84 Vbl e S A b, sl g ot s i, vl LA
FUARVPAE S L BRER (255 B G HIg 45 7))
— VIR I ARERAE RS ORI
(2) FF IR 20 I (S B ZS AN BEAE )
T

19. (HfER (2)15 Kk (3)C

20. (DF—mEZ  (2)Hk B#iAER
(3) M ARFE T — A i b
() A5 B WEE u<f TN S

21 (D) Bt (2) ik
(3) M & B Fih MR

F4EERNE

1.0.1 450 2.99 A48 3.H 80

40546 Wik s BUMR wWifk 6. THE ik

178K W 8 THE R

9.C 10.D 11.B 12.C 13.ACD 14.AC

15, AIER, f 2 U R ZE B 5 , BB T
JCE T A R T AN S AR TR R .

16. 5 R4 N BKZ8 UB BV A TR X B A e
JCAR /N . 0 3 B W XL, B3 /N 18
PO R ZE A

17. (1) 5 b ik R A e e o R ek B2 i 18 23 X
iR ESEREEY
(2) 3 _E ARSI FH 7K B4 28 2 W Aol 35 1 )l 2 A
2T v T 2% A R

18.(1)B (2)Fihk  (3) s 5 i it 22 4k e A4
Qi 6 1 AR P IR R PR AR

19. (1) g (2)4 (3) BRIk
()R AR AR AR, B —E R

20. ()0 FERIAFRE (2) A%

21. (1) OWIERER] T 4 SR
QUL BT T i A
(2) WK il AR AR

Q7K R 2 A KT B KA AN

22. () WRMIREE ()W .2 (3) RIEH
(4) EH
£5.6 EEKRNE

LIJF JF3C 2.9k 55 3.pA A

4.500 2x107° 5. WzhAsEHLE BS

6.4 NM& S AmHA 7.2 M3 L AL

8.0~500 1A

9.D 10.B

15, /INER {75 188 T 7 1) %) IR 2 ) ol A A HE S
B IR0, B A, R A8, BT J7 oK.

16.U, =4V U,=U, -U =7V-4V=3V

11.D 12.C 13.B 14.AD

U=Uy =7V
17.0, = U, + Uy, =24V U, =U,, +U;, =24V
w EAMTHMIE B U, =0, =0, =12V

s Uy =36V
18. (1) TR IR T4 B2 F (2) FrBH R,
(3) B
(4) T B LI 55 T4 S I H T 2 0
19. (1) g (2) g 20. (1)/h (2)F
20 ¥R (1)C G (2)C F (3)A D
2.(1)D H (2)&mE

(3) HHE S, /NI 52 s L& S, , W
SN SEE . 5 — U 5 U A 5 < 2210
S HUPERE B 4 TUCE S IR S S 2T
HL I B0 5 4 P UK — R, DU o 5 Ji 22 1) S H
PEREAATH].

£ EEIWNE

L 025 2.0.3 3 3.0.3 12

4.10 PSR R MAIE S AR AR

6.k Mk 7.0.6 40 8.3:5 5:2

9.C 10.A 11.D 12.D 13.ABC 14.ACD

15. Ay i HE S L BEL R, ) 94 i i,
AR BTLL L =1, =0.5 A

XA BRI L B R, Ay HL I, i LA HS B R,

.12 -



16.

17.

18.

19.

20.

21.

ElEREER

R,=U,/I, =6 V/0.5 A=12 Q)

FELBH R, % 9 FLE
U=U-U,=10V-6V=4V

HLRH R, B R, =U,/I, =4 V/0.5 A=8 Q
(1)248,.S; WiFF,S, &K, R, (R, Bk
1,=1,=0.3 A

R =U/I, =3V/0.3A=10 Q

(2)U, =L,R, =0.3 Ax30 Q=9 V

Uy =U, +U, =9 V43 V=12V
(3)4'S, WiH,S, .S, HIEHT, R, R, JFIK
Ry =R,R,/(R, +R,) =7.5 Q

I =Uyy/Ry =12 V/1.5 Q=16 A

209%}30:0'24 A
(1) Ry=5Q U=6V
7 QU+R0 =0-54
(2)R, =(f6—VA=10 Q
R, =R, -R,=100-5Q=50
(1)B (2)KHg (3)C
(4 ) 5 (L FEL BEL 7 o P9 R 1
(5) HLBH R &b A7 Wit
(1) BRI OCRA G EAEMAR
()5 HERMRE N2V
(3) TEHLE —E i), i@ o AR P i iR S R
R R AR L
(1) O EFREA FFBRAE/NMT Hm  QHEER

Y ut e SUpNE LR s U SU DN
(2) H 5 IR
(3)D10.4 O @74k
e 3 1 L BEL AR AL
(4)Ong QLB A
T

(1) 5256 PRI A a TR
(2) S5 5 BR - (D4 Het e, (2% 1) 26 e 0 v B8 0 R I
K S Wi TS HL R R MR U; QG FF K S, i F
HERIRECU,.

ANKT L RS i R T

LB AN RE %

(3)r=(U-U,)R/U,.

FE .

(1) SE5 B E &l b iR

(2)FE B O M EE R, LA S, i
FHERNRE U QW S, FEHA S, id M

JERMAELU,.
(3)r=(U, -U,)R,R,/(U,R, -U\R,).
0 —-
\JRI ;}Evhl
I—( S’7
S b
/| R
11
[ a b
E 8 EE WL
LORZe A W BE/IN, fi B B9 AT B R

2.6x10° 5

3. AR TR R (BRI N R ) K

7.10 40 8.7.2x10° 36

9.B 10.B 11.A 12.D 13.BD 14.BCD

15. (1) MR RAYRECH 6 V H, i R0 A2 1 38
BHEAS 09 L%, B /N TR 3 RO
Upy =Ug +U, =6 V+6 V=12V
()R, =U;/P, =(6 V)’/3 W=12Q
21934 Bl 728 BH g 422 A H % v ) H BELZ: 28 Q) i
Ry=R +R=120+28 Q=40 Q
I=Uyy/Ry =12 V/40 Q=0.3 A
P, =PR, =(0.3A)’x120=1.08 W

16. (1)P, =U*/R, = (220 V)*/1 210 Q=40 W
(2)I=I,+1,=(U/R,) + (U/R,)
=(220 V/1210 Q) + (220 V/121 Q) =2 A

17. (1)1 = Py /Uy =440 W/220 V=2 A
R=Uy/I; =220 V/2 A =110 Q
(2) Qg = ¢ my (g —toy) =4.2 x10° J/ (kg
- C) x0.5 kg x (100 °C -20 C) =1.68 x10° J
(3)W=0Q, =1.68x10° ] =Pt =440 W x¢
1=381.82s

HREMIEFTG (ABRR) - 13 -



(4) HL RS T 7= A i R T A AR K W i

18. (1)
(2) AR AR R /NMTHL, R R (3) FIng
(4) PRSI M s I L & U, (U,
(5) PRSI L 5 BE

19. (1) Elmg (2)A
(3) LR IE AL TR T
(4)B 0.3 0.75

20. SRAYHEL (2)A
(1) BRI/ 38 L B ]
(2)REETHR R B IR B R LEH Ry £ 00k
7 B 1 0 e e

21 () ANEM EHEHEE T (BRERZ2.5 V) 4T
HWHTPREAET (KT HEDE ()BT
PO BERR /N R TRR ST S BeR

2. ()EmE (2)6 (3)20 0.4 4

$£9.10 EE KNS

Hifgsk 2.4 N

HOL(O)

5.EBERY HBhHL 6.3 x10°

[ A 4

9.D 10.A 11.B 12.D 13.BCD 14.ABC

15. (1) By Wiy (2) i HAER a2
FWEM B M HEiL
(3) HBRNIE DU B RHAL

16. (1)f=v/A=(3.0x10°m/s)/6.5x10 > m

1. B
3. LG
4.58 2

7. {3

=4.62 x10" Hz
(2)s=vt/2=3.0x10° m/s x3.4 x10 *s/2
=5.1x10"m

17.(1)C (2)3x10° HA (3)= (4)&EMH
AL AT LSRR F R, BELR G0 DA P i

18. WM L EN A &£ 4

19. () Mk (2)DQHE@® O@D
(3) HARDI B RL M E  (4) B8 SS,
TSR LA [ 1 538 1) [ — 1) U0 ) R, R
RGO IR EH R 00 M AT LR 85T

SEER -

B BN, BLH S e S8 A5 G s U0 R D e £ 2
AR, D56 BA 5 i S 55 G 5

20. (1) @htksRss  (2)H . &
(3) N (4) AR

21 (1) T2 MUE ks RENER  (2) 23
(3) 3 rP A AL UL (i R Tt A 19 8
IR E L)

22. R CE L
SRR AT L, K e IR 2= —E L B L

TR AT R
1128830 NE

l.mg kg 2.4 F 3.40 1

4. 188pIRE e R S b

6.15 7§ 7.3 37.5 8.4.4 45

9.A 10.A

15, GHEIRRR V= Vi =my,/py =20 em’
LB cm, =240 ¢ +20 g-210 g=50 g
LY p, =m ./ Ve =2.5 ¢/em’ =2.5 x 10
kg/m’

16. V =abh =42 cm x0.4 cm x0.05 x 10 ™* cm =8.4 x

11.C 12.D 13.BC 14.BD

107 em’
m=pV=14.6 g/cm’ x8.4 x 10> cm’ =1.2264 x
107 ¢
A =88 J1/g x1.2264 x107* ¢ +0.9 JL =1 JC
P I AT 4 AR 7 % T IBRE 5 ot

17. (1w, =v, +v,
(2)v, =s/30s v, =s/20 s
=5/ (v, —v,) =s/(s/20 s —s/30 s) =60 s

18. ()mL 2 mL fiik
(2)1 mm 0.0250 /pF

19. (1) a. [AIF04) 0 BT & SRR LU 2 — 2 1
b. [R5 4 B i SRR LU A AR TR] %
AL R B AR ) BT 1 o
(2) ANRVARZS S i [6) Ay B, FO o = 5 R AR 1
HUARE AATEE R0 BT A R1AR A48
T N B



20. (1)CBA  (2)31 RN Fy =Gy,
(3)7.75x10° (4)B D

21. (1) AHR SR g
(2)Afig ATER—HZ AT Re & T
GYHVNEF B R (4)A

22 WHNRl— S BEW T K AR R F
BOGH B BN, i POz g 12 sh ik
KL BT 2
(1) IEERMAR N R EET
(2) BT AR R] i B

%1315 EEIRNE

LA & 2. BRI
4.%5 &5 5.150 5
T.R—%E /T 8K
9.D 10.B 11.A 12.D
15. (1)

EF 3.3 ME
6.3x10° 80%
AR

13. ACD 14. ACD

T B A 254 Bt IR £ 84 2 38 S 1R

#l: Ee JEAE R — A K A ALAF

KLY 45 B @R, 3G KRR

BT B3R 2 AR #d 4 7

04
(2)Fy = pxF=8x5N=40 N

f=2F, =2x40 N=80 N
16. (1)G=mg = (1100 kg +10 x50 kg) x 10 N/kg =
1.6 x10* N
(2)p=F/S=1.6x10* N/0.1 m° =1.6 x 10’ Pa
(3)f=F =W/s'=1x10" J/1 x10* m=10" N
Fs 100 Nx2 mx3

17.(1yp= o JIONXZmX 6o
(2)g = Vi 1000, = 28ONX2m 000
W, 100 Nx3 x2 m

=80%
(3)Wy = W,y/n =300 N0.8 =375 N

375N
-3

18. (1)K 0.7 3 R Sy il /INRIE i o f ML RS
TREEARE A A (2) W sh BRI I K/ 32 fi
[ PN T s P

SF =125 N

19.

20.

21.

22.

1./
3. HEE A
5. KRAE
7.3 x10*
9.B

15.

16.

0.756 0.9 84 (1)#HhlAsEk

(3) R A ' T e PR A T BT, AR T ) 050 A A 2
RN UL R g ()

ARHIET PR BT} A1 B2 AH () I, A4 ) 26 T AR e (D't
) HUBCR AR ()

(1) AR AT LA

(2) AEARIT o BE — 28 I, AR B A g

(1) (Wskizsh) @ A (BT BHJT)

(2) e AZI1ifE

(3) JHA [ i A 1) /N R A T Jo] — o BE Ak oy
IR BERNF — A b 1 i i s A e #% sl i
BRI, FIW A R 3 BE A R/ B BR B A 5
#

(1) Emg ()R kK

% 14 ZEE2I30NE

(3)C (4)AfiE

K2.1.25x10°  HERAZ SR, U/ N R
4.8 KF

INF

8. /N7 KT

12.A 13.BD 14.ABD

1.45 x10°
A2/ 6. 5h
1.03 x 10’
10.C 11.A
(Vg =my/py
=31.8 x 10’ kg/(2.65 x 10’ kg/m’) =12 m’
(2)F, =G, =m, g=31.8x10" kg x 10 N/kg =
3.18 x10° N

Py =F;/S;: =3.18x10° N/2.12 m’ =1.5 x10° Pa
(3)Gy =my, g =py Vi g =2.05 x10° kg/m* x
(4 mx2mx0.5m) x10 N/kg=8.2 x10* N

Py =F/Sy = (G +Gy) /Sy,

=(3.18x10° N+8.2 x10* N)/(4 mx2 m)
=5x10* Pa

(1)py =py gh =1.0 x 10° kg/m’ x 10 N/kg x
(0.11 m=0.06 m) =500 Pa

(2)Vy =my/py =110 g/(1 g/em’) =110 em’
S=Vy/h=110 em’/11 em =10 cm’

Vi = Shy, =10 em® x 12 em =120 cm’

pu =my/Vy =96 ¢/120 em® =0.8 g/cm’

HREIEFEG (ABRR) - 15 -



=0.8 x 10’ kg/m’

17. G =mg =6750 kg x 10 N/kg=6.75 x 10* N
Fi =pyygVy =1.03 x10° kg/m’ x 10 N/kg x 0.2
m’ =2.06 x 10° N

18. (1) Mg (2) YL S AREIIS , 52 3 T AN,
IFERIBCR B, (3) AT (4) JEJIrfE
FHBCR 5 3 89 RN A2 3 i B RN 56 TR
JBRIR, 32 Ty AR N W B 28R B B
A

0./ A Q)WE (DK K
(OF%E A%
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